
ADLC | Mathematics 10C 	 13 

Lesson 7.1:  Slope-Intercept Form of a Linear Equation     Unit 7:  Equations and Graphs of Linear Relations

The relationships between the graph of a relation 
and its equation in slope-intercept form can also 
be used to quickly sketch the graph when the 
equation is known.  Plot the y-intercept and then 
use the slope to determine another point on the 
graph.  Draw a line to connect the two points.

Check Up

1.	 Sketch the graph of y x
3
4

2=- +  on the grid provided. 
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Only two points are required to graph 
a linear relation.  Determining a third 
point helps to catch errors.  If a linear 
equation is used to determine three 
points that don’t line up on a graph, 
you will know you’ve made an error. 
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  Compare your answer.

1.	 Sketch the graph of y x
3
4

2=- +  on the grid provided.

	 The y-intercept is 2, so begin by plotting the point (0,2).  Use the slope 
3
4-  to determine 

two or more other points.  Use a straightedge to draw the graph of the relation.  
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y = –     x + 24
3


